
Quiz 5 (20 pts.) Name:

Short Answer

5.) (3 pts) Find the amplitude, period, and phase shift of y = −1− 2 sin

!
2x− π

2

"
.

6.) (7 pts.) Graph y = −1− 2 sin

!
2x− π

2

"
.

 



7.) (4 pts) Where are the asympotes of the graph y = 2 sec

!
πx− π

2

"
?

8.) (6 pts.) Consider the function y = 2 csc(2x+ π).

(a.) What is the period of the graph?

(b.) What is the phase shift of the graph?

(c.) Where are the vertical asymptotes?

(d.) Which of the graphs below represents the given curve?


